
 

 

 

 

 
Hardware Kit Contains: Recommended Tools: 
2) 3/8” x 1” Hex Head Bolts 9/16” Socket Wrench 
2) 3/8” Washers Black Marker 
  Drill and ½” drill bit 
  Metal punch and Hammer 
 
Step 1: Hold the Light Bar up to the face of the bumper where the round mounting brackets are flat against 
the bumper. Use the top of the bumper to align the Light Bar perpendicular to the ground. 
 
Step 2: While the Light bar is positioned on the bumper, mark around the two mounting brackets onto the 
bumper. Next, remove the light bar and set aside. You should have two circular marks on the bumper. 
 
Step 3: Mark a ‘X’ through each circle, this will give you the center. Use a metal punch and hammer to 
punch a pilot hole through the center of the circle. 
 
Step 4:  Drill a ½” hole through the pilot marks.  NOTE:  Make sure the holes are free of metal burs. 

 
Step 5: Align the Light Bar mounts to the drilled holes and place a 3/8”x 1” bolt and the 3/8” washer 
through the back side of the bumper and thread into the light bar bracket. After final positioning, 
torque each bolt location to 15-20 ft/lbs. NOTE: Removing the bumper may be easier on some models.  

Model C99 
Step 1:  Drill out the two square license plate holes with a ½” drill bit. 
 
Step 2:  Perform step 5 above.  NOTE: Mount the license plate back behind the Light Bar bracket.  
  Model G03 
Hardware Kit Contains:   
2) 3/8” x 1” Hex Head Bolts 2) 5/16” x 2” Carriage Bolts 
2) 3/8” Washers 2) 5/16” Washers 
2) 3/8” Nuts 2) 5/16” Nuts 
 
Step 1: Align the two holes in the center bracket of the light bar to the factory license plate holes in the 
bumper. Next, insert the two 5/16” carriage bolts and the 5/16” nuts and hand tighten. While the light bar 
is positioned in the bumper, make sure it is level from left to right. 
 
Step 2: With a marker, mark around both round mounting brackets on the light bar. Next, remove light 
bar from the bumper and set aside. 
 
Step 3:  Perform steps 3-4 above. 

 
Step 4: Align the light bar mounts with the drilled holes on the bumper and place the two 5/16” x 2” 
carriage bolts, 5/16” washers, and 5/16” nuts in the center bracket and hand tighten. Next, start the two 
3/8” hex head bolts, 3/8” nuts, and 3/8” washers in the two round bracket mounts on both sides and hand 
tighten. After final positioning, torque each bolt location to 15-20 ft/lbs

Installation Instructions 
Light Bar 

Models: Drill Applications 

Products Licensed to N-FAB Inc. by Fichter Designs are protected by US Patent Law and International Copy Right Law. 
Protected Patents include US Patent #6588783, #6874801, #7416202. Other patents and continuances pending. N-
FAB product configurations also protected by International Trade Dress Law. All Designs and Patent infringements 

will be prosecuted to the full extent of the law.  
 

 
For Technical Support, Please Call 281-880-6322 

N-FAB Inc., 12302 Shiloh Church Rd., Houston, TX 77066 



 


